Question Paper Title : FG_20

Date of Exam : 21-06-2019 02:30 PM

Reference 1D:(30650) Convert the following active to passive voice: Everyone loves Prof. Shah

A.Prof. Shah was loved by everyone
B.Prof. Shah is being loved by everyone
C.Prof. Shah is loved by everyone

D.Everyone seems to love Prof. Shah

Answer: C.Prof. Shah is loved by everyone
Reference ID:(17611) 36 =41 1/8 + 50 AT 60% + 0.25 x 150 =
A.72
B.73.5
C.74
D.71.25
Answer: A.72
Reference 1D:(28645) Pick the right idiom which fits into the sentence: We had to for two hours

outside the school

A.Come with open arms
B.Settle our account with

C.Cool our heels



D.Wash our hands of

Answer: C.Cool our heels

Reference 1D:(30877) Identify the figure of speech in the following sentence: This new car cost a zillion
lakhs of rupees.

A.Apostrophe
B.Metaphor
C.Hyperbole

D.Personification

Answer: C.Hyperbole
Reference 1D:(30623) Identify the word that’s closest in meaning to the word: Principle
A.Ruler

B.Head of educational institute
C.Doctrine

D.Associate

Answer: C.Doctrine

Reference 1D:(19970) geId fAUmTan St =01 v a1 Uag i
TR ST 3 UgT d1d' g1 afSdial UG HaR Udhd 9. O T feaxit argde
QeI T T dl craa. Tordrd =T ...

A TG BT Bid AT H6TS HRITAT
B.GWeT ¢dl d8dd



C.gefige RuTg 3 TRTSTER HITETS

D .HRM &1 clad WU g ATgt
Answer: D. YR & <l WS gud Alat
Reference 1D:(28364) Find the word closest in meaning to the highlighted word: Ecstasy

A.Depression
B.Misery
C.Happiness

D.Turmoil

Answer: C.Happiness

Reference 1D:(19997) "SR T YearaT FHMTT Weq 3.

A&

B.gY

C.Xad

D.HY

Answer: C.dd

Reference 1D:(26522) UTUgT=AT aTthd SR UToaTaed §I01 igUra! 8.



Answer:

Reference 1D:(20729)

Answer:

Reference 1D:(27629)

Answer:

Reference 1D:(19743)

ATeIYaH
B.aMSHaT
C 2itasu

D.3WIdT

INGALCE]

WRDC=43,BALL=2133,HAVE=8145, RMADE=_7

A.311315
B.41135
C.4145

D.41414

C.4145

Pick the correct meaning of the highlighted idiom or phrase from the following:
By taking my mom on holiday, | killed two birds with one
stone. | got to go away but also spend time with her.

A.To accomplish two things at once
B.To be able to multi task
C.To be able to make the best of an opportunity

D.To be able to do something at a slow pace

A.To accomplish two things at once

"SI B AT BTG B 1 Uit 31 Wreiadss! Hiorr @ sfiewar?



A TERR TR Wy fea,
B. I\ AT SATOT U YA,
C.THT T 3101 U 3.

D SleTd HeRT N BT b HRTdT.

Answer: B.ET 9Tt 3M1for SURT HerdTd.

Reference 1D:(23445) '3 IT Yearal FHHTT Weg 3.

A SUHTT

B.$aY

C. o414

D.3U&T

Answer: A.UHTH

Reference D:(32166) YR GG DI GBS b e Uda 3g.

ABTST

B.gARICS fdhiren
C.3iReferan
D S



Answer: B.gACS fdred

Reference 1D:(35174) TTel feciedr Uamies! 3 Ux UM 1R ST 1 f 3118, SYorar o= et & sfiewar?

A.242 M..K.B,Jagtapura,Jaipur,
Jaipur — 302017

Rajasthan

PH: 0130202509

B.242,M..K.B,Jagatpura,Jaipur,
Jaipur — 302017

Rajasthan

PH: 0130202509

C.242,M..K.B,Jagatpura,Jaipur,
Jaipur — 302017

Rajasthan

PH: 0130202509

D.242,M..K.B,Jagatpura,Jaipur,
Jaipur — 302017

Rajasthan

PH: 0130202509

Answer: A.242 M..K.B,Jagtapura,Jaipur,
Jaipur — 302017
Rajasthan
PH: 0130202509

Reference 1D:(28618) Pick the right idiom which fits into the sentence: A mother stands by her children

A.By hook or by crook
B.Hand in glove
C.In weal and woe

D.On the spur of the moment



Answer: C.In weal and woe

Reference 1D:(27883) Pick the correct meaning of the highlighted idiom or phrase from the following:
They smelt a rat when he didn’t show up for work after the
robbery

A.To sense something is wrong in a situation
B.To get a bad smell
C.To act without thinking

D.To get worried about a situation

Answer: A.To sense something is wrong in a situation

Reference 1D:(28872) Convert the following simple sentence to compound sentences: He must run fast
to catch the train

A.He must have to run fast to catch the train
B.He must run fast or he will miss the train
C.To catch the train he must run fast

D.He will have to run fast to catch the train

Answer: B.He must run fast or he will miss the train

Reference 1D:(26526) eI HIvd T 3M1g?
(A) HRGTT AU 3/ Tged 31T &1 "RTod § UTIaRUIT TREF0T 3101 GUROM H01
30T RIS a1 9 gsliaie Y&UT HRUTTHIS ! Td Heal”,

(B) HRTT JfIYTM 318 e 318 Pl g+, daTd, 7= 301 a-goita aigg Safifes
TGfaRUTS TREUT T JYUROT HROT 0T SHifad W0aira! ga1 HR0 § HRAKd Tdid




AFds A TT 3T

B.hdcs B 9 38
C.3IET A 3T B I 318
D3Il A 3M1fYT B I el
Answer: C.GIg! A 30T B T 31T
Reference 1D:(30369) Find the word opposite in meaning to the word: Ominous.

A.Auspicious
B.Dire
C.Doomy

D.Ill boding

Answer: A.Auspicious

Reference ID:(33421) e YT Shavall eRERIIId I 9 TR “TaRe” 3 TUrdId 1d Qe iadd!
DU FHIGRT TGd1?

A foRea
B.ITSTT HRHA
C .M
RIFIREIEI

Answer: B.ITSIT HRHAA



Reference 1D:(32163) 1926 A& RTTUT o SRfdar smeM Y Y 3MT8.

Answer: C.Q@%ﬁ

Reference 1D:(24407) WU THRUM T S Xeq-olRa Sreel Ve el

A SFSRIGUl
B.EfPaI
Cgifid
D.g9gid

Answer: B.%l@dl?l

Reference 1D:(20956) HTfeibadrd RBTHI ST +RT: A, B, D, G, , P,V

AE
B.K
C.F

D.H

Answer: B.K



Reference 1D:(26521) JeEeT AIATaRU T IRIRT dTIHHTT §IUIRT GedepTa= a1g &t U
i@ S,

A TG
B.8Rd T[T uRuma

C . SIFTfd® dgHare
D. iUt 9d

Answer: S IIGEAGICEIGEI

Reference 1D:(33420) HRTd dcﬂ“—ﬁ-ﬂ'ﬁf Ued e ORI HIS \’rl'l%’?

A feeet

B.H&s
C . HIABIT

D.3{eHaldlq

Answer: Afec

Reference 1D:(22835) TR $ 3R '+ 3T @ 3R '—', IR Weiale! Jald et Jaid HIvrr 318 ?

A55$22@75%$42@ 12 @23 $45$ 27
B.228$27 @ 25$ 32 @ 221 $ 204 @ 44 @ 37
C.79$42$215$42$31 @203 $45$ 27

D38@207 @25@ 32 @21$204$244 @7

Answer: A55%322@75%42@12@23%$45%27



Reference 1D:(24915)

Answer:

Reference 1D:(33418)

Answer:

Reference 1D:(24688)

Answer:

Jaid YeaqHgITa! A Veg (ATl

3% MYId Uh Ay def UMY

A 3ffafaaeron
B. 3G
C . HIIURII

D.fasiify

B.3(VTaLT!

gYTTe areTd RBTH S URUIRT Haid arg Reg HasT.
AR AT HUSATA Blg- GGl &AM ... SICGIH

A.dthcd

B.g®h %
c.fores

D.dc®d

c o=



Reference 1D:(29888) Pick the right antonym for the word:
candid

A.Inhibited
B.Direct
C.Difficult

D.Upfront

Answer: A.Inhibited

Reference 1D:(27856) Pick the correct meaning of the highlighted idiom or phrase from the following:
We plan to lay out five lakhs for this business.

A.To spend systematically
B.Store for the future
C.To abandon for a while

D.To lease on hire

Answer: A.To spend systematically

Reference 1D:(19208) Qe YsaTal AN / JHN ThR 3.

T THISH

A HTIHG

B.®HYRY
C gl aagey
D.9gdife

Answer: C.aqf aay



Reference 1D:(32168) WU D07 ek HERIFT GRHHAT Fegd? (1 T 2019 i)

A.JRIGdRTd deglul

B.ST3Td 3ThY

C.Ul. & grdd
D FRId AP
Answer: B. ST Ted BTy
Reference 1D:(27048) Find the meaning of the highlighted word in the sentence: Trump attempted to

mediate between the powers to end the war.

A.Cut in the middle
B.Arbitrate
C.Obliterate

D.Eliminate

Answer: B.Arbitrate

Reference ID:(17130) Treiid gafaite! g1 shHiGTE Jafd HIGT HIT 3Mg?

A.350 I 70%
B.1300 dT 1/4
C.0.35 x 900

D.700 dTf 2/5

Answer: C.0.35 x 900



Reference 1D:(24180) TTeaUD! BN T Yk We3-aa- SRIcIel eq Sesl.

Answer: D.a’%ﬂﬁ

Reference 1D:(26524) eI BV FARIGARIGE T (U106 T) o 0reH 3ga?
A.31d RRR
B.forfauRt
C AR oy

D.adcte! Id

Answer: D.aﬁﬂﬁﬁ Td

Reference 1D:(18473) & fdhar 3ffIe had T THhd T3 dIR e dre a3y Wed
EIGH

AT

B. ¥
c.fy

DX



Answer: c.fay

Reference ID:(23672) Tttt THHT el SRIsR Siel e

A TSI - TSt
B.3{q - oid

C.Add - fehrs,

D.UT&l - ATy

Answer: B.3{q - oI

Reference 1D:(18500) "JIITTd fhaTag &di fhdl HH AR daad ATel" § A&0T HIvT YN 378,
A FHHD DRl GIRT
B.3{hH® el YA
C . FHull ggrT

D.HTd YT

Answer: D.HTd TRINT

Reference 1D:(33419) HRATd AP Sfcfdot fasiT @ o TR (National Institute for Interdisciplinary
Science and Technology) DS 3M?

AJTR



Answer:

Reference 1D:(20702)

Answer:

Reference 1D:(23699)

Answer:

B.8RIdTS

C.9TaR

WRHB=6,NG=7,d¥SZ=

A.-7
B.7
C.6

D.-6

oo T Wsar favgrf 2ree siiesw.

AU

CRUEH

D.fdhfra

A AUD



Reference 1D:(17638) 45 1 1/18 + 44 =41 25% =1 200% + 0.30 x 120 =

A.62
B.62.5
C.60.5

D.59.75

Answer: C.60.5

Reference ID:(25169) g[S Weg 3fieswl. fUahd urdaen sieid! .

B.3MG]
C.SIYT

D.JIC

Answer: B.3Mal

Reference 1D:(33422) RISTRYTTHE DIUTT GRI TR SRS Alchehell HgIa' HIoRT el STdl?

AR

B.SOQR

D.3TR



Answer: A.@Ugg

Reference 1D:(24434) G| ATHRUTA ¥ Y[ea aradra ugig fHast,

A fasTa U3 Irdauar URiRIE0T v,
B3 Joiiid HAfddHid g,
C.HH™ IS Tsh Uiaawr SHfHHar 3ed.

D.URATHM Ul Jax Siia fda 3le.

Answer: C.HHA™ I8Id Udh UIqar SffH=dT 3Ted.

Reference 1D:(17384) 9.75+5.75+3.95-(9.25-5.50-4.75) =

A.20

B.20.6

C.20.45

D.20.1

Answer: C.20.45

Reference 1D:(33424) HRATIA Ulgdl! gaidlgR Yed Jdl (gfel Tarin) Y & HIUGTT AT,

A et
B.4s%



Answer:

Reference 1D:(29607)

Answer:

Reference 1D:(32160)

Answer:

Reference 1D:(26528)

C.9TaAR
D.HIABIT

C.9TaR

Pick the right meaning of the highlighted word in the sentence:

He lived a life of penury

A.To lead a very luxurious life
B.To be well off
C.State of being very poor

D.To have excessive pride about something

C.State of being very poor

ITZED g 1a % 3fle.

AT ]1E%
B3 TER

C.3IH IR
D. 3P W8T

C.3dI g

YRTT STaiagd Ja iU HIuTd e 9 3g?
A) HRA G 331G 1990-2015 G dlgl.
B) HeAUCRT ISTTd YRS Jafd HIS SITd 318,

A HTD A



B.%d® B
Calol A 3T B
D.A U AT8! B UUT ATl

Answer: C.Eil%‘l A 30T B

Reference ID:(32167) YT APUHGR 3ival e THer fhdt Y Amifed odl oS Xl ?

A2 dqd
B.4 oy
C.6 4a¥

D.8 el

Answer: A.2 9o

Reference 1D:(25196) "RIdTR" a1 WG Wdiaud! ar Welt faug siewr.
AR+ R
B.fId + 3R
C.fd + 3R

D.fiaT + SR

Answer: D.feiar + SR



Reference ID:(33423) AR TURIOfTST ARG IS 3aRaed e YR TruiedT W HIvdl SRe?

A
B.AR

C.dard
D.fgxar

Answer: B.-'-|I€"i|

Reference 1D:(20221) X 3 qd feRian dis oM. < 45 3 STaids aesdl. T i 75 3 Ioididhs aasdl. 79 al
180 3T g&dl. AT dl 15 3 Iodibs gaddl. Rde! dl SHatbs 45 3R dosdl. 3MTdT dl
HIUTT fERIe dig B IUT 38?2

L
B.3™
c.ufsw

D.qd

Answer: c.aigm

Reference ID:(24153) Wttt faeearf qrear et siie! e,

AT x 3

B.X x 31
C.gaefuft x Fagoft
DR x &Y

Answer: B.RMF x 3R



Reference 1D:(26520)

Answer:

Reference 1D:(22807)

Answer:

Reference ID:(17357)

Answer:

AT HIR HIUTAT N WHRUTTT STAT?

A.2000
B.2010
C.2011

D.2012

B.2010

R $ 3R '+ 30T @ 3118 ', TR Wieliaua! gafd AT Tafa SHIordr 318 2

A25@22@35%$72$202@ 83$45$ 27
B48 @27 @25$32@ 221$204$44$72
C29$22@25%42%31@ 203 $45$ 207

DA44$17 @25 @ 32 @ 21 $ 204 @ 44 @ 23

A25@22 @35$72$202@83$45$ 27

3.50 + 2.55+4.75-(3.25-6.55 + 4.75) = ___

A.9.45

B.9.35

C.8.95

D.8.85

B.9.35



Reference 1D:(18954)

Answer:

Reference 1D:(29353)

Answer:

Reference 1D:(20248)

I8 QIS d §1d 81T, IT I hles s,

A TUT Y hTos
B 3l Ydhred
C.=ITef HdPTos
D.quf dhTes

C.dlq HdhId

Pick the right meaning of the highlighted word in the sentence:
The obscure writer was not known in the literary community.

A.Someone who is direct with someone
B.Someone bright and intelligent
C.Someone relatively unknown

D.Something explicitly mentioned or done

C.Someone relatively unknown

TS AT AT IRIIRIA Yd &= 10.5 fos 4T, e,
W ) Sdidhe gl 0T 5 fob. 1. ATl
T dl Soldih gaddl 3T 1 o5, =Y. arerdl.
T dl Iolaibs gaddl 3T 7 fos. =Y. arerdl.
W @ Ioidihs daad! 30T 4 T A}, aTerdl.
W @ Ioididhs dadd! 3o 3 fob. A, arerdl.
T dl SIAihs gaad! 3111 4 o 1. arerdl.
T dl SIAics goad! 3101 1 oo 1. arardl.

A AT TRIIH el o 3R?

A.2.5 fo .



B.3.5 o541,
C.1.5fw .
D.3 fo .

Answer: B.3.5 oo =t

Reference ID:(32162) CACRERE FCEIN] Y Y 3MT8.

AT

C.GHUI
D. 3@

Answer: D.W

Reference 1D:(25423) AT 1 Va1 Wieitaua! ar Gt favrg afeswr.,

AfS + T

B.T + AT

C.fla + mET

D.fa + 3R

Answer: c.fa + amET



Reference 1D:(31131)

Answer:

Reference 1D:(33425)

N,
J . ey, [,
LB s o o ~1 o ; e
] —— . s
2o L} !
x} 1
\
}
h {
)k
i
#
P
4
vl .'.
I ~
i
.
i 1'-
s
n ."-
s
5
L,
K}
i
P e

ARSIl ARTed aTuT=T gaifderen foesT Welerdenl HIvTar 3me?

A fgmett

B.dddHIb

D.ATTR

B.dddHIb

HRAIdd g1 ufgal foregT saia 3mg, f1d wrufiies 3Ry &g 100 Tdb IR

JoiaR 3R

AHTS! - STTH
B.3FAUR - 3T Ul
C. IR - ORI
D3R - fogR




Answer:

Reference ID:(18727)

Answer:

Reference I1D:(21718)

Answer:

Reference 1D:(16522)

C.3d - ToRTd

MY QXA aTadl. g1 araTa dl dadTeTere] TRadd SR ey
FiTAUe! SV Gl J 3MTg?

AR QXA dTad 3R
B.XNY J&deh drad 39

C .MU Qe dTaid 3.

D. RN Qe dTral.

A RNYF JEdeh dTerd 3!,

WRA=1,B=2,C=3,....Z =26, R Tdid Up! HIUd YT SRR 3MTg?

AA+W+A+Y}={S+A+N+G}
B{A+W+A+Y}<{S+A+N+G}
CAA+W+A+Y}>{S+A+N+G}

D{S+A+N+G}={G+I|+R+L)}

C{A+W+A+Y}>{S+A+N+G)

FEISUIP,Q,R, S, X 301 Z § &F MU UhHdbids dis Ho- ¥ 3HTod. Glal
I ! T ST0T 3fTed. X 9T [ASIRT Sqaal P g1 S T HUNTNE 318, S 81 Z &
Sldlchs U=l hHibIaR 3MT8. X 81 HIUATe! AT Add! Sqadl Alel. R 8 Z =
TATRY 318, WA DI ThTE I 3Med?

A.P 30T Q
B.Z U Q
C.X 3fUr s



D.P 3fUIR

Answer: A.P 30T Q

Reference 1D:(33426) fag’ BT I D10 ST HIoRT Bl SIIdl?

A3
B.dfieg
OXGSUIEH
D.3fif &M

Answer: A ST™HH

Reference 1D:(21491) WRA=1,B=2,..M=13; 3N =13,0=12, .... Z = 1, TR QNI UPH! HIUIQ
Tgig sRISR 3MTR?

A{N+I1+C+E}>{D+0+C+K}
B{N+I1+C+E}={D+0+C+K}
CIN+I+C+E}<{D+0+C+K}

DIN+I+C+E}={L+|+K+E)

Answer: B{N+I+C+E}={D+0+C+K}

Reference 1D:(19462) WAt dTeRreR 3o AT syt 9 Siist e,

A figae g0 - gad g g
B.3fCTUCT ®HRUl - TRTHT WIH Rl
C. 1T UTae §I0f - UH HHT 8ot



D TR IS - Geg+ Siol

Answer: C.IITCITW@T?I - aﬂWEﬂﬁf

Reference D:(26529) HERIPTTE IRRYR GJoid SHARUY JTcilade! BIoTcl oreglld g 2

AATRIS
B. Tl

CITs

D.Riyg

Answer: B. el

Reference 1D:(30142) Find the meaning of the highlighted word in the sentence: Of the two, the latter is
far better than the former.

A.Earlier
B.Second
C.Superior

D.Prominent

Answer: B.Second

Reference ID:(33417) HRATAT IS ST 1 DI betl?

ASIL & 3R, 3fdsH

B.Ufgd SIargdd A8

C. gy I 91



D.ftRTelt dpa

Answer: D.fiTelt depa
Reference 1D:(20983) Hrfeibaldd RbTH ST R OPRU__ D J
AX
B.W
CY
D.V
Answer: CY
Reference 1D:(28137) Find the meaning of the highlighted word from the sentence: The high cost of

material will compel manufacturers to increase the prices.

A.Necessitate
B.Hinder
C.Obstruct

D.Dissuade

Answer: A.Necessitate

Reference 1D:(21237) SR ARTICHOKE T Xls& TRAHCIOKE 3f9d, @ EMBEZZLED BT Xlsq 3.

A.LEDZZBEEM
B.DZZEEBMLE

C.BMEZZELED



D.BDEEELZZM

Answer: C.BMEZZELED

Reference I1D:(27375) Identify the figure of speech in the following sentence: India is a melting pot of
culture.

A.Apostrophe
B.Simile
C.Metaphor

D.Oxymoron

Answer: C.Metaphor

Reference 1D:(16549) R @ 318 "HIIHR' 31T § 31T [UNHR’, TR WU daid HIdT Uarg HIurd 3g?

A41@5
B.4.25$2.5
C.33@4

D.3.75%2.5

Answer: B.4.25%$2.5

Reference 1D:(34947) iR 9 (128) 16;
33 (288) 9;
X 27 (?) 12.
"2" T Heg QT

A.334

B.289



C.328

D.312

Answer: D.312

Reference 1D:(29861) Pick the Synonym for the word:
Fury

A.Indignation
B.Calm
C.Praise

D.Help

Answer: A.Indignation
Reference 1D:(28110) Find the meaning of the highlighted word in the sentence: He was trying to banish
all feelings of guilt

A.Eliminate
B.Accept
C.Include

D.Admit

Answer: A.Eliminate

Reference 1D:(32164) 83 eRUT HIUTAT AT 38?2

AXTSTRYTH



B.STRIGS

C.ferm=d uew

D. 31U Ul

Answer: B.STRIGES

Reference 1D:(24942) PENRIE R R R ARG
HIUTATE! TR st gt fRR I1gd,

A.SETaYTT
B.RUqus
C.URiTdad

Answer: B.Ruaum

Reference ID:(26525) SUFHS B IRMET U Tob et Biall.

B.3{IT

C IH
D FITt! BIEIE! ATEt

Answer: A.{Fﬂ?ﬂ



Reference 1D:(29126) Pick the right meaning of the highlighted word in the sentence:
In order to thwart the advancing enemy troops, the captain ordered the explosives
team to destroy the bridge

A.To hate something a lot
B.To stop something from happening
C.To be happy for something to happen

D.To help in making something happen

Answer: B.To stop something from happening

Reference 1D:(18981) WA el FHN / U UHR iddl. HIEHRIS

A FHYRY

B3NRNR g

C.dgsy
D.3[IdIHIg

Answer: B.E(‘QHQ §_§

Reference 1D:(24661) gTde araaTd RepTH) ST YRuary gafd arg e fRasT.
e uRfRUdT wresdie faemaf-t feaad aw Rfgdw ... 378,

Answer: C .grIToTugTSIT



Reference ID:(21464) R FARKLEBERRY & Y& IDUNOHEHUUB 38, TR GOOSEBERRIES BT G
3.

A.JRRWHEHUULHV
B.JRRVHEHUULHV
C.JRRVGEGUULHV

D.JQQVHHUULHV

Answer: B.JRRVHEHUULHV

Reference 1D:(18246) T Gl s SI1d F §i&H HIUMIG! g@drd. g1 dITdied g ol

A ST
B. I dfcereh

C.UcIHadh
D.3{iat

Answer: A ST

Reference 1D:(28899) Fill in the blanks with simple past or past perfect tense of the
verbs: We __ of attending your birthday celebrations, but some guests ____in and
we couldn’t make it.

A.Had thought.......... dropped
B.Thought.......... have dropped
C.Thought.......... were dropping

D.Had thought.......... were dropping

Answer: A.Had thought.......... dropped



Reference 1D:(30115) Find the meaning of the highlighted word in the sentence: He also had
an invincible faith in the hospital.

A.Unflinching
B.Crazy
C.Destructible

D.Beatable

Answer: A.Unflinching

Reference 1D:(34920) VIR 9 x 18 =26244,4 x 18 = 5184, 3MUT5 x 14 = 4900, d¥5x5="7

A.625
B.1025
C.725

D.555

Answer: A.625

Reference 1D:(19489) TTd fciedT IR TG AR 3 aidd Yaiaidyd sfieswl. e o

A glod e faasit didhs Sieg didh 3Hfifded Hrdra.

B. 4 ANTel &1 Ul WRugr Sififdad ol Sirdl.

C.T9 UTSUINITS NRTAGHT dial 98 aqary YT SHifead d1d anm.
D.HTSiH! GSlT GRTAHT gIHga e ORId 3ifiifgsd &,

Answer: C.T9 UTS IS NRTAG T dial 98 aqary YT SHifead d1d anm.



Reference 1D:(32161) EICUCRI BRG] 7Y YA 3fTe.
AL UG
B.3{1Y U=

C.JW U

Answer: AT U

Reference 1D:(29634) Pick the Synonym for the word:
eradicate
A.Eliminate

B.Disapprove

C.Wasteful
D.Spread
Answer: A.Eliminate
Reference 1D:(31104) Fill in the blanks with the right set of words:
The Jawaharlal Nehru Stadium _ with dance and music as various troupes from
different countries a panorama of color and costume.

A.Will reverberate, presented
B.Reverberates, presented

C.Reverberated, present



D.Reverberated, presented

Answer: D.Reverberated, presented

Reference ID:(17892) XBIYEI190% T HBT3ME. TTYBIXET % g 3Tg.
A.10
B.1.11
C.11.11

D.47.36

Answer: D.47.36

Reference 1D:(29380) Pick the right meaning of the highlighted word in the sentence:
The government claims to be doing all it can to eradicate corruption.

A.Disapprove of something
B.Eliminate something
C.Being wasteful about something

D.Spread something everywhere

Answer: B.Eliminate something

Reference 1D:(21210) ATfeTbate ReBTH STRT +RT: 65, 35, , 11, 17

A1



B.35
C.65

D.17

Answer: D.17

Reference ID:(22553) Wrefieiten! gafd HIdT Uafa SIvrr 3 2

A225-12-35+74 +202-93 +45+ 37
B.48 +27 +25+32-221-204 +34 + 74
C.29-22-45+42 +31-203 +45 + 207

D.244 -17-25+32-21+204-44-23

Answer: A.225-12-35+74 +202-93 +45 + 37

Reference 1D:(26527) 1T ST MBI SR (3ieds)  IaTe (9 &) i Aqardra]
Fafia a9 faumT gl

AT A
B.feg gera™
C.RTg wigld

D HERIN Y1y

Answer: A TSI ot

Reference 1D:(20475) X o Of3H fe=Ie dis 3MTe. df 90 3T STalehs deddl. W dl 70 3R Iordidhs dosdl. Hi
a¥ 180 32 g5dl. T dl 90 3 Ioldicbs doadl. Aac! dl SMdihe 25 3 Josdl, AT
@ HIUrT R dig B IHT 3Tg?




AT gd

B.3WR Ud
C.Gl&or ufgy
D. 3R UfgH

Answer: A cfaror EL?JT

Reference ID:(17865) 54 =1 1/12 + 25 T 30% =T 200% + 0.25 x 60 =

A.36
B.36.5
C.33.75

D.34.5

Answer: D.34.5

Reference ID:(23926) Treitada! faseanelf e sRIeR St e,

A G x Tiar

B.HIHR x dg

C.FaRT x gdt

D.3cad x 3

Answer: D.3cad x 3

Reference ID:(17103) 8/20 + 10.5-5/25=7



A.10.3

B.12.2

C.10.7

D.11.225

Answer: C.10.7

Reference 1D:(19716) Jeid T80T YUl HruamTel Org ugfg fFasr. qagd A A4,

AT
B.$Y
c.&H

D.faar

Answer: C.Eb_f[

Reference ID:(18219) ST GaRi+T Plete! ]NHd|
R S Id BV STBR IR T 37TS 2
A ifH=
B. 3T
C TgHTalfeRT
D I&

Answer: B.&rzrfawm



Reference 1D:(27021) Select the correct passive voice form of the sentence: Why is your sister not
learning her lesson?

A.The lesson is not being learnt by your sister
B.Is the lesson not being learnt by your sister?
C.Is your sister not learning the lesson?

D.Why is her lesson not being learnt by your sister?

Answer: D.Why is her lesson not being learnt by your sister?

Reference ID:(26523) gfties g1 fevum Y 3MEdl.

AJTIRIES

B. 3R

C. 33U Uaxl
D.BIHR

Answer: D.BHIER

Reference 1D:(28391) Find the meaning of the highlighted word in the sentence: His gait is slow and he
tires easily.

A.Behavior
B.Brain
C.Energy levels

D.Pace

Answer: D.Pace



Reference ID:(16876) 20/25+1.5-5/25="7

A2A1
B.1.9
C.2.7

D.1.55

Answer: A.21

Reference ID:(32165) daid THur He 3TE.

A2
B.4
C.8

D.6

Answer: B.4

Reference 1D:(30396) Pick the correct meaning of the highlighted idiom: | was amused with his cock and
bull story.

A.An improbable story
B.A funny story
C.A story about animals

D.A story about a surprising event

Answer: A.An improbable story



Reference 1D:(22581) Wrefieide! gafd dg™ g o 31g 2

A22+55-12+45+15-203 +42 + 57
B.28 + 27 -52 +35-51+ 204 -44 - 37
C29+25-212+45+31+203 +42 + 27

D.38 + 207 - 52 - 35 - 51 + 204 - 44 - 37

Answer: A22+55-12+45+15-203 +42 + 57

Reference 1D:(19235) “JGUT YTA0" T JIFIIRT W] HIordr 3 AT 31g?

A.GRAR YUIHIGH JRTO!
B.OTSYTAT ATId GIRT 3rSehidul
C.Hgfer urerl

D.g¥ ®leul

Answer: C.II'CI'ET bINL

Reference 1D:(27602) Identify the figure of speech in the following sentence: Oh Night, how dark you are!

A.Metaphor
B.Simile
C.Apostrophe

D.Personification

Answer: C.Apostrophe



